Negative Zahlen Variante 12 Klasse: Datum:

Multiplikation bis 1.000 Blatt 11 Name:

@ (+45) o (-20) = e 30) =
C) ( _ 30) ° ( _ 28) = . d) ( +20) L4 ( - 31) =
e) (-420) « (+2) = Z (-3) « (-170) =

@ D (+320) + (-2) = 7y . (r10) =
€) (-40) o (-20) = d) (+9) . (-100) =
® (3100 « (+2) = LGNNI

@ a) (+30) ° (_ 17) = b) ('9) ° (+100) = ..
C) ( _ 400) . ( _ 2) = d) ( +12) . ( = 60) =
e) (-110) « (+7) = " (-20) - (-49) = .

@ a) (+50) . (_ 12) = b) (-3) 4 (+260) = ..
9 (+19) . (-50) = Vo2 .30 =
e) (-110) « (+5) = f) (-20) « (-38) =

® a (+70) « (-8) = b (. . = -640
o e (-6) = 720 D o(ra) o200 =
©) (.30) . = 810 ) . (-110) = 990
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Negative Zahlen Variante 12

Multiplikation bis 1.000 Blatt 11

@ a) (+45) ¢ (-20) = -900 b) (-7) e (+130) = -910
C) ( _ 30) ° ( _ 28) = 840 d) ( +20) L4 ( - 31) = -bsU
e) (-420) « (+2) = -840 Z (-3) =« (-170) = 510

@ a) (+320) « (-2) = -640 b) (-7) « (#110) = -770
€) (-40) o (-20) = 800 d) (+9)  (-100) = -900
® (-310 « (+2) = 620 V1o - 7o =

@ a) (+30) « (-17) = -510 b) (-9) « (+100) = -900
C) ( _ 400) . ( _ 2) = 800 d) ( +12) ° ( = 60) = -r0
e) (-110) « (+7) = -770 " (-20) - (-49) = 980

@ @ s . (12 = o0 ) (-3 . (+260) = 780
C) ( +19) . ( - 50) = -950 d) ( +2) b ( - 380) = | -.foY
e) (-110) « (#5) = -550 " (-20) - (-38) = 760

@ a) (+70) « (-8) = -560 b) (-2) « (+320 = -640
© (-120 . (-6) = 720 D (ra) .+ (200 = 800
e) (-30) e = 810 ) e (-110) = 990
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